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PART A: Grammar and Vocabulary
76. ’m afraid I ..................... the English homework; would you give me some more time?
1) don’t finish 2) haven’t finished 3) not finished 4) wasn’t finishing

77. When a student doesn’t listen to the teacher in class and talks to others, she prevents
..................... and others from learning.

1)it 2) those 3) herself 4) themselves
78. To me, this job is as difficult to do ..................... the one I already had.
1) as 2) from 3) like 4) that
79. The librarian told two of the students ..................... to let others be able to concentrate on
their lessons.
1) to keep quiet talking 2) they keep quiet by not talking
3) by not talking keep quiet 4) who were talking to keep quiet
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80. The night-shift workers were forced to stop working when the ..................... went out;
everywhere was dark, actually.
1) rule 2) fuel 3) power 4) coal

81. After spending three hours in the doctor’s waiting room, the woman still waited .....................
for her appointment.
1) luckily 2) patiently 3) repeatedly 4) absolutely

82. The director never asks more than 10 people to work with him in his projects, and he
wants the best 10. He always says, “When there are too many people, no one ....................
the job seriously.”
1) gets 2) brings 3) takes 4) gives
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83. Both parties ..................... a solution to the problem and hope to talk things over during
the meeting.

1) compare 2) arrange 3) join 4) seek
84. We’d been ..................... to think that borrowing money was bad.
1) figured out 2) brought up 3) looked up 4) gotten along with
85. Journalists sometimes promise to keep the ..................... of their sources hidden.
1) ethics 2) guides 3) identities 4) destinations
86. The shirt is not ...................... because the manufacturer has created millions of shirts
just like it.
1) serious 2) traditional 3) decorative 4) unique
87. She teaches the students to have ....................... for different nations and appreciate the
diversity of other cultures.
1) respect 2) pleasure 3) heritage 4) likelihood
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PART B: Cloze Test

Globalization has affected most aspects of our lives. One area which has changed is education.
More and more people move to different countries for their studies. At the same time, more people
stay at home and study by (88) .............. learning. It is now easy (89) .............. without
attending a college or university, or attending less often.

“Blended learning” means studying partly in a traditional way in the classroom and partly
online or via email. These changes also mean that there is now more interest in “lifelong learning”,
the idea that we go on learning throughout our working lives and even into (90) .............. Ctis
easy to attend “webinars” or online seminars (91) .............. being away from our offices. Many
adults go back to college later in life because it is so easy to get a degree without (92) ..............
work or disrupting family life.
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88. 1) activity 2) distance 3) combination 4) achievement

89. 1) for learning 2) learn 3) to learn 4) learning
90. 1) ceremony 2) childhood 3) retirement entertainment
91. 1) without 2) for 3) by of

92. 1) giving up 2) turning around 3) taking notice of taking part in
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PART C: Reading Comprehension
Passage 1:

It’s not necessarily true that the longer you study, the greater your chances of getting a high
score on a test. Time alone won’t guarantee your success. You must study effectively, making the
best use of your time. First, before an exam, talk to your teacher. Instead of asking, “What’s on the
test?” you can request guidelines about what topics will be covered and how you can best prepare.
This information will provide a purpose for your study. Next, find a place to study where you will
remain awake and undistracted: a desk in a library is better than a bed near a television. Then, with
your purpose in mind, reread your class notes, textbook sections, and other materials. Underline
key information and mark points that you do not understand. When you have finished this review,
go back to these points and try to answer them. Use any chapter summaries or review materials that
are available. Finally, if the teacher has provided sample test questions or if review questions are
available in the textbook-try to answer them. They will help you do a final check of your readiness
for the exam.

93. What does the passage mainly discuss?
1) The importance of tests in students’ educational success
2) The negative effect of studying longer than normal
3) The teacher’s role in students’ test performance
4) The way to prepare the best for tests

94. Which of the following best describes the structure of the information in the passage?
1) A goal is set and its effects are described one after another.
2) An approach is introduced and the steps involved in it are mentioned.
3) A claim is made and evidence to sbow that the claim is wrong is offered.
4) A problem is referred to and the possible solutions to get rid of it are listed.
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95. The passage suggests that when exam time is close if a student asks his/her teacher,

“What’s on the test?”, that student ..................... .

1) is on the wrong path 2) shows he/she is anxious

3) will not receive a response 4) would make the teacher disappointed
96. The phrase “these points” in the passage refers to the points ..................... .

1) included in key information 2) one has failed to take a look at

3) of material other than class materials 4) one has not been able to comprehend
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PASSAGE 2:
To start with, we cannot go on using oil for ever. We can do so for a few more decades-perhaps
until 2070, then it will run out. There will be none left-or at least, there will be hardly any left.

At present, there is still plenty of oil under the ground. There is oil under the North Sea and
under the Atlantic Ocean. Engineers keep finding new sources of oil. But there are some realities
which cannot be avoided. The quantity of oil under the ground and under the sea is not infinite.
It will not last for ever. As oil becomes rarer, it will become harder to extract. It will also become
more and more expensive. It will, therefore, become more expensive than other fuels. Oil will
always cause pollution. Of course, there are also other truths: Scientists are making new forms
of oil, using plants. Most of the oil that we eat comes from plants, and it is sometimes possible to
make petrol from this oil. For instance, some types of diesel-fuel already contain sun-flower oil.

Sun-flower oil is cleaner than mineral oil, so it causes less pollution. But perhaps in the long
term, vegetable oils are not a good solution for the future; in the future we may need all the land
for producing food.

In reality, the future will have to be a future without oil-or with very little oil. Scientists are
already developing cars, houses and plastics that do not use oil. Electricity will be the energy of the
future, but it will have to be clean electricity.

97. The phrase “run out” in paragraph 1 is closest in meaning to ..................... .
1) appear 2) lower 3) end 4) exist
98. The passage suggests that at present oil ..................... .

1) can meet human needs for energy

2) is too hard to get from under the ground

3) can be found under the seas and oceans more

4) is located more under the ground than under the oceans

99. Which of the following is true about sun-flower oil, according to the passage?
1) It can be used as fuel to drive cars.
2) It comes from sources other than plants.
3) It causes as much pollution as mineral oil.
4) It seems to be the final answer to our energy needs.

100. The passage would most probably continue with a discussion of ..................... .
1) the clean energy of the years ahead
2) other problems related to the use of oil
3) the role of energy in scientific developments
4) steps to take to solve oil-related technological problems
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